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Atomic Structure

SOLUTION
Ans.(3)
hv = ¢ + hv°

_ 6.626x107 x3x10°
© 4000 x 107"
$=335x1019] = ¢=21eV
Ans. (2)

According to de-broglie's hypothesis

b _%x9><1031><(6><105)2

2
n

2nr, =nh = 2m . a;— =nxL.5na,
z

D075
V4

Ans.(4)

Ozone protects most of the medium
freequnecies ultravoilet light from 200 - 315
nm wave length.

Ans. (2)

Ans. (2)

For electron

A :
App = J2mKE. (de broglie wavelength)

By photoelectric effect

h

p——
PR amx(hv—hvy)

I
Y

(v—=vy)

App €

22
(E),m = (EI)H L=

n
Second excited state, n = 3

2
E (He:+)=(—13.6e\/)-§—2 =-6.04eV

Sol.

10.

11.

Sol.

Ans.(1)

In 'K, 2s orbital feel maximum attraction from
nucleus (So having less energy) due to more
Zeff‘

Ans. (3)

Number of ejected electrons are independent
of frequency of light , & kinetic energy of
electrons is independent of intensity of light.
K.E. = hv + (-hv)

y=mx + C

Ans. (4)

Refer Theory

Ans.(4)

— 1 1
VZRHX[n—f—gJ

V=R, x% —%
V=R, x% —%

m = Ry

Linear with slope Ry
Ans.(4)

hv—-¢=KE

= (Ej =KE+¢
7\‘ incident

SO
7\‘ incident

P’ hc hc

KE - E z}\‘incidem ) 7 (1)
2 2
p~x(1.5) hc
—_— = ..(2
= 2m A 2)
divide (1) and (2)
A
2 &
(1‘5) 7\‘!
:>x=4—7‘
9
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12. Ans.4)
Sol. For Lyman

— 1 1

Vinax = RH (1_2 _Qj = RH

_ 1 1 3

Viin = RH (1_2 _2_2j = ZRH
R

AVLyman =—*H

For Balmer

- 1 1 R
Vo =Ry| = —— |=—2%
max H(zz 002) 4

- Ans. is (4)
13. Ans.4)

14. Ans.4)

Sol. Graph of |y?2| v/sr, touches r axis at 1 point so
it has one radial node and since at r =0, it has
some value so it should be for 's' orbital.

n—/¢—1=1 where /=0 =>n-1=1
. n =2 = '2s" orbital

15. Ans. (2)

as for shortest wavelengths both n, and m, are

[e0)

M _9_m

Ay 1 nf

Now if m; =3 & n; = 1 it will justify the

statement hence Lyman and Paschen (2) is

ep65"
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) correct.
Sol. VY,
16. Ans.(2)
Sol. P(x) = 4nx2x[¥(x)]’
Probability will be maximum at a and ¢
> T
47trsz(r)“
PR >
¢





